
Sub-Pos-L2 Set1

Question 1 [25 marks]

0: 6304− 4695 = 1609

1: 7477− 2935 =

2: 7666− 3264 =

3: 6971− 1407 =

4: 8597− 1978 =

5: 8598− 3774 =

6: 9519− 1737 =

7: 6643− 3073 =

8: 6196− 2348 =

9: 5067− 3878 =

10: 7408− 2817 =

11: 5197− 4602 =

12: 6256− 4924 =

13: 5094− 2336 =

14: 9846− 3320 =

15: 8426− 3251 =

16: 5858− 3434 =

17: 7501− 1480 =

18: 9430− 4408 =

19: 7134− 4182 =

20: 7608− 3313 =

21: 8054− 2797 =

22: 9674− 3044 =

23: 5534− 3857 =

24: 6066− 1228 =

25: 5956− 1020 =

Question 2 [25 marks]

0: 9025− 1519 = 7506

1: 9359− 4521 =

2: 7385− 3612 =

3: 6095− 4354 =

4: 9828− 4506 =

5: 9218− 4181 =

6: 8338− 3232 =

7: 7815− 1732 =

8: 5301− 3703 =

9: 7789− 3534 =

10: 9095− 3154 =

11: 9809− 3884 =

12: 9455− 3078 =

13: 7814− 2912 =

14: 5447− 3024 =

15: 8827− 3011 =

16: 7985− 3855 =

17: 9920− 1102 =

18: 9217− 1028 =

19: 6230− 1261 =

20: 5049− 2735 =

21: 9925− 1680 =

22: 6257− 4161 =

23: 5838− 4390 =

24: 6188− 2965 =

25: 9600− 1590 =
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Question 3 [25 marks]

0: 6879− 3682 = 3197

1: 9462− 1215 =

2: 6133− 4996 =

3: 5650− 3167 =

4: 7509− 1574 =

5: 6964− 3718 =

6: 8007− 3831 =

7: 7631− 4936 =

8: 5681− 4037 =

9: 8942− 4700 =

10: 5147− 2101 =

11: 6562− 2819 =

12: 8616− 2009 =

13: 6279− 2536 =

14: 8595− 3634 =

15: 8987− 3773 =

16: 6262− 1284 =

17: 7752− 2104 =

18: 6389− 2989 =

19: 9557− 2744 =

20: 5142− 2399 =

21: 9275− 2195 =

22: 6526− 2774 =

23: 6830− 2813 =

24: 5405− 4641 =

25: 9506− 3651 =

Question 4 [25 marks]

0: 8301− 2914 = 5387

1: 7428− 4136 =

2: 5502− 4222 =

3: 8173− 3178 =

4: 8151− 2520 =

5: 9213− 1483 =

6: 8932− 3944 =

7: 6645− 3161 =

8: 5505− 3515 =

9: 6367− 2994 =

10: 8446− 3678 =

11: 9241− 4872 =

12: 6265− 1974 =

13: 6681− 3933 =

14: 7365− 3145 =

15: 6251− 1171 =

16: 9981− 1381 =

17: 5879− 2237 =

18: 9988− 2681 =

19: 9130− 2931 =

20: 7188− 4668 =

21: 7638− 2137 =

22: 6892− 2242 =

23: 5939− 1460 =

24: 9902− 4740 =

25: 5568− 3086 =
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Question 5 [25 marks]

0: 6137− 4726 = 1411

1: 9284− 2378 =

2: 5781− 2815 =

3: 9319− 2491 =

4: 7908− 2582 =

5: 5529− 2486 =

6: 6551− 2605 =

7: 9780− 3308 =

8: 5675− 4404 =

9: 5254− 4528 =

10: 7390− 3352 =

11: 7654− 3311 =

12: 7929− 1746 =

13: 9636− 2118 =

14: 6227− 1527 =

15: 6349− 2464 =

16: 6509− 1832 =

17: 9024− 3598 =

18: 7553− 1355 =

19: 7234− 3681 =

20: 6945− 4770 =

21: 6403− 1343 =

22: 8848− 1964 =

23: 6534− 1566 =

24: 5024− 1862 =

25: 9862− 4040 =

Question 6 [25 marks]

0: 6702− 3786 = 2916

1: 7296− 2623 =

2: 9277− 4035 =

3: 5133− 4387 =

4: 8845− 2263 =

5: 8596− 1080 =

6: 5145− 4936 =

7: 6350− 4585 =

8: 6027− 4070 =

9: 7939− 1575 =

10: 8251− 4688 =

11: 6038− 3952 =

12: 6618− 2512 =

13: 8740− 3086 =

14: 7035− 2566 =

15: 5928− 1591 =

16: 7038− 2582 =

17: 5802− 4220 =

18: 9791− 2443 =

19: 9958− 2680 =

20: 8446− 1910 =

21: 7684− 2077 =

22: 6325− 2541 =

23: 9688− 2948 =

24: 5070− 4613 =

25: 6707− 1083 =
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Question 7 [25 marks]

0: 8945− 4017 = 4928

1: 5661− 4142 =

2: 6562− 4765 =

3: 7125− 1147 =

4: 6464− 2252 =

5: 6227− 1282 =

6: 6483− 2898 =

7: 8638− 1133 =

8: 8347− 4916 =

9: 9046− 2603 =

10: 8628− 4349 =

11: 5113− 2514 =

12: 7139− 1999 =

13: 9301− 2002 =

14: 9538− 1466 =

15: 6556− 1731 =

16: 5889− 1198 =

17: 8594− 1368 =

18: 5275− 3055 =

19: 9210− 2011 =

20: 8679− 2474 =

21: 9977− 1933 =

22: 6062− 2233 =

23: 6170− 3861 =

24: 5766− 3671 =

25: 5150− 3115 =

Question 8 [25 marks]

0: 5158− 3466 = 1692

1: 6034− 3283 =

2: 7964− 3163 =

3: 5270− 4333 =

4: 6710− 1918 =

5: 9463− 2121 =

6: 9165− 4019 =

7: 9278− 2700 =

8: 7465− 1558 =

9: 5041− 1829 =

10: 5322− 1921 =

11: 7297− 4336 =

12: 8900− 2362 =

13: 6319− 1090 =

14: 6676− 1818 =

15: 8893− 4083 =

16: 5539− 4479 =

17: 7634− 3138 =

18: 5179− 4713 =

19: 6562− 4772 =

20: 6006− 1403 =

21: 9247− 3333 =

22: 9960− 3399 =

23: 7778− 3907 =

24: 7723− 2058 =

25: 9930− 3000 =
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Question 9 [25 marks]

0: 7833− 3296 = 4537

1: 5183− 1486 =

2: 8589− 2910 =

3: 5418− 2108 =

4: 5498− 4392 =

5: 9591− 2755 =

6: 6113− 2132 =

7: 9553− 4018 =

8: 9960− 2362 =

9: 9371− 1910 =

10: 7751− 2534 =

11: 7266− 2223 =

12: 9819− 1058 =

13: 6990− 1791 =

14: 5698− 1638 =

15: 9022− 1334 =

16: 6444− 1002 =

17: 7122− 4875 =

18: 6734− 1273 =

19: 6979− 2744 =

20: 5018− 1919 =

21: 8158− 4519 =

22: 6280− 3636 =

23: 7265− 2657 =

24: 7896− 1903 =

25: 5336− 2973 =

Question 10 [25 marks]

0: 8997− 2291 = 6706

1: 5231− 4864 =

2: 7255− 2947 =

3: 8614− 1695 =

4: 9453− 4116 =

5: 8074− 2393 =

6: 5195− 3198 =

7: 8550− 3375 =

8: 5781− 1746 =

9: 8376− 2953 =

10: 8298− 4995 =

11: 5515− 3795 =

12: 8242− 1645 =

13: 7382− 3897 =

14: 7723− 4157 =

15: 5292− 1801 =

16: 5796− 4071 =

17: 7423− 3193 =

18: 7234− 4936 =

19: 9280− 4769 =

20: 8248− 3082 =

21: 6661− 2268 =

22: 9626− 4821 =

23: 6335− 1347 =

24: 8677− 3480 =

25: 6446− 1868 =
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Question 11 [25 marks]

0: 7805− 2641 = 5164

1: 5063− 4322 =

2: 6086− 4578 =

3: 7174− 2151 =

4: 6495− 3918 =

5: 5338− 1996 =

6: 5011− 1650 =

7: 8152− 4982 =

8: 7772− 3838 =

9: 8308− 3726 =

10: 5294− 1487 =

11: 7583− 2696 =

12: 5646− 1118 =

13: 8020− 2639 =

14: 7925− 2219 =

15: 7111− 4380 =

16: 5526− 3502 =

17: 6791− 4719 =

18: 9699− 2811 =

19: 7167− 3175 =

20: 8496− 3842 =

21: 9320− 4946 =

22: 6109− 4966 =

23: 9508− 3581 =

24: 6719− 2010 =

25: 6627− 3835 =

Question 12 [25 marks]

0: 9531− 1162 = 8369

1: 9870− 1409 =

2: 6298− 2377 =

3: 9014− 4716 =

4: 6394− 1091 =

5: 7621− 1701 =

6: 6670− 2036 =

7: 6287− 1991 =

8: 9623− 4819 =

9: 6349− 3879 =

10: 8541− 1315 =

11: 8994− 3385 =

12: 6692− 1830 =

13: 9603− 4657 =

14: 9763− 2011 =

15: 5319− 2138 =

16: 6194− 1117 =

17: 9986− 2857 =

18: 8210− 3165 =

19: 7732− 1859 =

20: 8632− 1850 =

21: 8697− 4361 =

22: 9349− 4351 =

23: 6651− 2255 =

24: 6184− 4876 =

25: 5345− 2814 =
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Question 13 [25 marks]

0: 7572− 3468 = 4104

1: 8637− 2893 =

2: 7944− 3063 =

3: 9257− 3789 =

4: 9840− 2195 =

5: 9303− 2889 =

6: 7060− 1323 =

7: 9027− 4369 =

8: 6521− 3664 =

9: 6973− 1005 =

10: 5146− 2957 =

11: 7457− 1944 =

12: 8934− 4447 =

13: 5610− 3211 =

14: 8188− 4001 =

15: 7254− 1195 =

16: 6943− 1965 =

17: 5143− 2513 =

18: 9304− 2518 =

19: 6632− 2371 =

20: 5933− 3816 =

21: 6953− 1450 =

22: 5951− 4105 =

23: 9106− 2106 =

24: 6359− 3131 =

25: 7781− 2298 =

Question 14 [25 marks]

0: 9322− 3310 = 6012

1: 8317− 1427 =

2: 9099− 3123 =

3: 9833− 1346 =

4: 6309− 4412 =

5: 5612− 3184 =

6: 7735− 4256 =

7: 5336− 3980 =

8: 5299− 1325 =

9: 5230− 2095 =

10: 9312− 4586 =

11: 6652− 4051 =

12: 6770− 3802 =

13: 6453− 1714 =

14: 8588− 2010 =

15: 9553− 1681 =

16: 9594− 4374 =

17: 7511− 2072 =

18: 6186− 4639 =

19: 6966− 3794 =

20: 8617− 2312 =

21: 6645− 1973 =

22: 9462− 4609 =

23: 6379− 3520 =

24: 8822− 3865 =

25: 8657− 4222 =
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Question 15 [25 marks]

0: 8071− 3251 = 4820

1: 5250− 1552 =

2: 5276− 2985 =

3: 5458− 3323 =

4: 8857− 1925 =

5: 5864− 2702 =

6: 5991− 3963 =

7: 5801− 1125 =

8: 5174− 3750 =

9: 6120− 4100 =

10: 6151− 3938 =

11: 8991− 3236 =

12: 5899− 3049 =

13: 5091− 3579 =

14: 7156− 3463 =

15: 6707− 2325 =

16: 6675− 2084 =

17: 9954− 1776 =

18: 5465− 2943 =

19: 7222− 3052 =

20: 8187− 1415 =

21: 8591− 4804 =

22: 7120− 1049 =

23: 5477− 4549 =

24: 9926− 1271 =

25: 7861− 3550 =

Question 16 [25 marks]

0: 9428− 2889 = 6539

1: 6631− 4838 =

2: 9445− 4688 =

3: 6761− 2761 =

4: 7769− 3558 =

5: 8929− 4434 =

6: 5048− 4600 =

7: 6367− 1845 =

8: 9639− 2335 =

9: 8872− 2088 =

10: 8951− 4532 =

11: 9684− 2226 =

12: 6147− 2591 =

13: 7049− 1946 =

14: 6388− 3736 =

15: 5900− 4447 =

16: 9213− 1458 =

17: 9789− 2241 =

18: 9731− 3635 =

19: 5744− 2485 =

20: 7271− 3316 =

21: 8902− 4509 =

22: 8368− 2610 =

23: 9344− 1632 =

24: 8065− 3085 =

25: 6215− 1811 =

004 7 September 2014 8
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Question 17 [25 marks]

0: 104− 62− 27 = 15

1: 143− 58− 22 =

2: 114− 58− 30 =

3: 147− 61− 26 =

4: 122− 52− 26 =

5: 149− 54− 22 =

6: 147− 63− 24 =

7: 145− 53− 27 =

8: 129− 52− 22 =

9: 139− 50− 25 =

10: 141− 68− 28 =

11: 141− 52− 29 =

12: 130− 66− 24 =

13: 102− 55− 30 =

14: 116− 69− 20 =

15: 142− 66− 28 =

16: 115− 58− 23 =

17: 117− 64− 25 =

18: 127− 67− 25 =

19: 143− 56− 20 =

20: 135− 51− 25 =

21: 130− 50− 28 =

22: 149− 57− 30 =

23: 150− 54− 28 =

24: 107− 64− 26 =

25: 114− 56− 20 =

Question 18 [25 marks]

0: 146− 63− 25 = 58

1: 136− 50− 21 =

2: 105− 64− 21 =

3: 114− 62− 21 =

4: 145− 60− 23 =

5: 150− 67− 23 =

6: 107− 67− 20 =

7: 142− 67− 28 =

8: 141− 55− 21 =

9: 138− 60− 28 =

10: 127− 66− 22 =

11: 113− 50− 21 =

12: 109− 57− 26 =

13: 132− 56− 29 =

14: 141− 50− 21 =

15: 133− 64− 28 =

16: 121− 52− 23 =

17: 145− 54− 24 =

18: 139− 59− 23 =

19: 123− 50− 21 =

20: 105− 64− 28 =

21: 115− 56− 23 =

22: 150− 64− 25 =

23: 128− 55− 27 =

24: 143− 60− 24 =

25: 117− 63− 23 =
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Question 19 [25 marks]

0: 119− 60− 28 = 31

1: 119− 62− 20 =

2: 108− 70− 24 =

3: 136− 70− 21 =

4: 150− 58− 24 =

5: 128− 67− 25 =

6: 118− 69− 30 =

7: 146− 68− 21 =

8: 102− 56− 26 =

9: 104− 61− 23 =

10: 145− 50− 29 =

11: 118− 51− 21 =

12: 104− 61− 25 =

13: 105− 67− 30 =

14: 113− 65− 20 =

15: 135− 64− 27 =

16: 119− 61− 26 =

17: 117− 58− 23 =

18: 108− 69− 29 =

19: 103− 53− 23 =

20: 132− 59− 21 =

21: 102− 69− 25 =

22: 131− 70− 20 =

23: 143− 57− 22 =

24: 130− 55− 28 =

25: 145− 62− 28 =

Question 20 [25 marks]

0: 102− 64− 24 = 14

1: 137− 52− 20 =

2: 111− 51− 20 =

3: 103− 57− 20 =

4: 119− 54− 28 =

5: 143− 55− 21 =

6: 121− 55− 24 =

7: 136− 69− 20 =

8: 121− 62− 25 =

9: 144− 56− 21 =

10: 146− 69− 24 =

11: 108− 54− 29 =

12: 142− 65− 30 =

13: 145− 63− 29 =

14: 131− 66− 25 =

15: 143− 56− 29 =

16: 114− 50− 27 =

17: 141− 69− 22 =

18: 130− 68− 23 =

19: 113− 60− 22 =

20: 127− 54− 20 =

21: 108− 52− 21 =

22: 141− 70− 23 =

23: 135− 60− 30 =

24: 146− 61− 22 =

25: 146− 64− 22 =
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Question 21 [25 marks]

0: 147− 63− 20 = 64

1: 129− 56− 20 =

2: 121− 62− 21 =

3: 137− 50− 26 =

4: 135− 70− 28 =

5: 109− 59− 25 =

6: 113− 56− 28 =

7: 150− 58− 20 =

8: 116− 57− 22 =

9: 106− 56− 27 =

10: 141− 63− 23 =

11: 139− 54− 24 =

12: 142− 66− 24 =

13: 119− 53− 25 =

14: 126− 60− 25 =

15: 141− 53− 30 =

16: 142− 55− 29 =

17: 114− 70− 27 =

18: 114− 69− 27 =

19: 141− 51− 27 =

20: 121− 65− 20 =

21: 109− 58− 20 =

22: 144− 58− 26 =

23: 129− 70− 23 =

24: 147− 65− 21 =

25: 121− 50− 29 =

Question 22 [25 marks]

0: 105− 51− 27 = 27

1: 124− 65− 21 =

2: 121− 59− 30 =

3: 109− 56− 23 =

4: 117− 55− 29 =

5: 139− 50− 20 =

6: 137− 70− 21 =

7: 102− 66− 30 =

8: 124− 50− 27 =

9: 102− 56− 27 =

10: 142− 58− 26 =

11: 142− 54− 28 =

12: 115− 53− 26 =

13: 146− 57− 24 =

14: 124− 50− 22 =

15: 126− 50− 26 =

16: 111− 59− 27 =

17: 125− 70− 23 =

18: 133− 68− 23 =

19: 107− 61− 23 =

20: 141− 62− 20 =

21: 105− 60− 26 =

22: 112− 70− 20 =

23: 144− 54− 20 =

24: 144− 66− 22 =

25: 128− 67− 24 =
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Question 23 [25 marks]

0: 107− 54− 21 = 32

1: 117− 58− 28 =

2: 136− 63− 30 =

3: 102− 51− 20 =

4: 102− 53− 28 =

5: 105− 52− 25 =

6: 148− 58− 22 =

7: 145− 58− 23 =

8: 102− 62− 28 =

9: 132− 66− 21 =

10: 110− 50− 21 =

11: 108− 52− 21 =

12: 107− 51− 27 =

13: 149− 63− 23 =

14: 137− 52− 22 =

15: 135− 64− 23 =

16: 127− 62− 25 =

17: 145− 54− 30 =

18: 104− 54− 26 =

19: 110− 58− 30 =

20: 138− 50− 23 =

21: 142− 69− 22 =

22: 145− 66− 20 =

23: 115− 52− 27 =

24: 122− 53− 28 =

25: 111− 60− 28 =

Question 24 [25 marks]

0: 144− 50− 21 = 73

1: 117− 58− 23 =

2: 104− 68− 23 =

3: 139− 65− 21 =

4: 145− 65− 26 =

5: 130− 53− 25 =

6: 138− 55− 21 =

7: 112− 60− 23 =

8: 150− 50− 25 =

9: 141− 58− 23 =

10: 104− 62− 20 =

11: 105− 69− 20 =

12: 126− 52− 23 =

13: 135− 66− 27 =

14: 119− 59− 23 =

15: 107− 54− 27 =

16: 143− 65− 24 =

17: 140− 67− 23 =

18: 149− 70− 30 =

19: 141− 68− 20 =

20: 115− 70− 20 =

21: 117− 63− 20 =

22: 147− 64− 26 =

23: 121− 57− 24 =

24: 139− 63− 21 =

25: 150− 52− 20 =
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Question 25 [25 marks]

0: 102− 53− 24 = 25

1: 120− 65− 26 =

2: 116− 65− 28 =

3: 118− 58− 22 =

4: 137− 67− 25 =

5: 115− 53− 24 =

6: 105− 58− 29 =

7: 149− 67− 30 =

8: 103− 66− 27 =

9: 113− 52− 23 =

10: 142− 66− 27 =

11: 133− 59− 25 =

12: 106− 58− 22 =

13: 130− 67− 26 =

14: 127− 52− 29 =

15: 127− 52− 26 =

16: 105− 69− 20 =

17: 146− 51− 28 =

18: 102− 68− 20 =

19: 123− 59− 29 =

20: 150− 55− 28 =

21: 150− 68− 24 =

22: 130− 50− 30 =

23: 128− 52− 26 =

24: 112− 63− 25 =

25: 107− 59− 20 =

Question 26 [25 marks]

0: 115− 70− 21 = 24

1: 140− 68− 25 =

2: 108− 60− 28 =

3: 110− 55− 29 =

4: 127− 55− 24 =

5: 150− 65− 27 =

6: 136− 54− 23 =

7: 135− 66− 23 =

8: 118− 66− 23 =

9: 133− 66− 27 =

10: 126− 62− 23 =

11: 122− 63− 22 =

12: 136− 68− 25 =

13: 148− 53− 21 =

14: 137− 51− 26 =

15: 150− 67− 21 =

16: 112− 52− 20 =

17: 146− 51− 25 =

18: 140− 61− 26 =

19: 141− 68− 30 =

20: 115− 61− 22 =

21: 107− 65− 28 =

22: 129− 56− 22 =

23: 107− 58− 27 =

24: 109− 57− 30 =

25: 107− 69− 27 =
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Question 27 [25 marks]

0: 109− 64− 20 = 25

1: 104− 64− 28 =

2: 149− 50− 25 =

3: 119− 50− 27 =

4: 136− 70− 26 =

5: 131− 61− 23 =

6: 118− 70− 21 =

7: 131− 70− 23 =

8: 134− 64− 21 =

9: 147− 69− 26 =

10: 112− 50− 24 =

11: 117− 61− 26 =

12: 120− 69− 22 =

13: 124− 63− 22 =

14: 102− 70− 24 =

15: 119− 59− 25 =

16: 130− 63− 21 =

17: 140− 56− 29 =

18: 138− 54− 29 =

19: 124− 50− 24 =

20: 144− 63− 23 =

21: 148− 54− 27 =

22: 148− 62− 24 =

23: 117− 53− 21 =

24: 147− 59− 25 =

25: 125− 57− 30 =

Question 28 [25 marks]

0: 116− 70− 26 = 20

1: 129− 51− 27 =

2: 110− 50− 22 =

3: 110− 54− 21 =

4: 131− 54− 28 =

5: 143− 68− 28 =

6: 107− 57− 20 =

7: 117− 62− 21 =

8: 131− 63− 28 =

9: 121− 57− 22 =

10: 120− 54− 29 =

11: 107− 69− 27 =

12: 148− 51− 21 =

13: 124− 61− 29 =

14: 116− 65− 25 =

15: 141− 55− 26 =

16: 138− 51− 25 =

17: 135− 65− 20 =

18: 127− 64− 27 =

19: 138− 63− 24 =

20: 108− 53− 29 =

21: 117− 53− 26 =

22: 123− 59− 22 =

23: 138− 60− 22 =

24: 135− 62− 26 =

25: 129− 68− 21 =

004 7 September 2014 14



Sub-Pos-L2 Set1

Question 29 [25 marks]

0: 108− 63− 25 = 20

1: 137− 59− 29 =

2: 111− 56− 25 =

3: 135− 70− 23 =

4: 121− 70− 23 =

5: 142− 64− 25 =

6: 112− 52− 25 =

7: 105− 67− 25 =

8: 139− 52− 28 =

9: 133− 58− 30 =

10: 121− 66− 28 =

11: 145− 68− 29 =

12: 120− 60− 27 =

13: 128− 65− 22 =

14: 145− 54− 26 =

15: 117− 68− 27 =

16: 135− 54− 27 =

17: 138− 68− 26 =

18: 110− 54− 29 =

19: 143− 61− 22 =

20: 102− 63− 26 =

21: 120− 67− 29 =

22: 133− 60− 28 =

23: 106− 54− 20 =

24: 134− 59− 21 =

25: 128− 52− 25 =

Question 30 [25 marks]

0: 103− 68− 30 = 5

1: 136− 69− 21 =

2: 131− 54− 27 =

3: 143− 66− 25 =

4: 111− 56− 26 =

5: 119− 69− 20 =

6: 108− 67− 27 =

7: 104− 68− 28 =

8: 136− 62− 28 =

9: 119− 52− 27 =

10: 107− 65− 28 =

11: 104− 60− 20 =

12: 123− 53− 21 =

13: 143− 58− 20 =

14: 111− 69− 26 =

15: 119− 62− 24 =

16: 143− 68− 28 =

17: 132− 56− 20 =

18: 118− 67− 20 =

19: 137− 68− 28 =

20: 111− 55− 21 =

21: 112− 52− 25 =

22: 105− 53− 29 =

23: 117− 68− 27 =

24: 140− 66− 24 =

25: 116− 63− 26 =

004 7 September 2014 15



Sub-Pos-L2 Set1

Question 31 [25 marks]

0: 134− 56− 27 = 51

1: 148− 56− 23 =

2: 117− 55− 25 =

3: 132− 66− 30 =

4: 140− 69− 21 =

5: 118− 59− 29 =

6: 116− 65− 24 =

7: 143− 68− 23 =

8: 131− 52− 30 =

9: 140− 67− 28 =

10: 130− 67− 29 =

11: 147− 57− 30 =

12: 110− 68− 28 =

13: 108− 59− 27 =

14: 128− 58− 26 =

15: 132− 63− 21 =

16: 136− 51− 28 =

17: 112− 58− 20 =

18: 141− 65− 21 =

19: 113− 50− 22 =

20: 125− 54− 23 =

21: 134− 50− 28 =

22: 139− 61− 27 =

23: 138− 56− 21 =

24: 138− 52− 27 =

25: 116− 63− 25 =

Question 32 [25 marks]

0: 110− 68− 27 = 15

1: 113− 50− 28 =

2: 134− 52− 28 =

3: 126− 52− 22 =

4: 137− 69− 26 =

5: 104− 53− 24 =

6: 131− 67− 24 =

7: 150− 52− 20 =

8: 127− 65− 23 =

9: 148− 52− 29 =

10: 112− 66− 21 =

11: 106− 68− 24 =

12: 110− 51− 28 =

13: 135− 61− 20 =

14: 139− 60− 21 =

15: 146− 57− 24 =

16: 111− 66− 20 =

17: 135− 57− 23 =

18: 125− 63− 29 =

19: 102− 65− 24 =

20: 110− 60− 26 =

21: 117− 55− 26 =

22: 121− 60− 29 =

23: 116− 68− 22 =

24: 108− 70− 25 =

25: 124− 55− 29 =
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